Opened:	April 19, 2019]				
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
			Mosty Brothers	Site One Landscape	Sorell Farms LLC		South Texas Property
6100011094		DG	Nursery Inc. 200 Mosty	Supply Holding LLC 1385 East 36th Street	dba Bob Wells Nursery 17160 CR 4100	3817 Bent Brook Dr.	Services Inc. 8338 Piney Wood Run
0100011094	<u> </u>	Estimated	Center Point,	Cleveland,	Lindale,		San Antonio,
Item	Description	Annual Quantity	TX 78210 (830) 634-2643	OH 44114 (216) 706-9250 ext. 2	TX 77571 (903) 882-3550	TX 78664	TX 78255
1	One (1) Gallon Trees	•		,			
1	Anacacho Orchid Tree Price per Tree	200	\$6.00	 No Bid	No Bid	\$35.00	No Bid
	Extended Price:		\$1,200.00		No Bia	\$7,000.00	
2	Anaqua	100					
	Price per Tree		\$6.00		No Bid		No Bid
	Extended Price:		\$600.00			\$4,000.00	
3	Arizona Cypress	200					
	Price per Tree Extended Price:		\$6.00 \$1,200.00		No Bid	\$38.00 \$7,600.00	No Bid
						4 1,00000	
4	Bur Oak Price per Tree	300	\$6.00	No Bid	No Bid	\$30.00	No Bid
	Extended Price:		\$1,800.00	I NO BIG	No Bid	\$9,000.00	
5	DELETED						
3	DELETED						
6	Cedar Elm	300					
	Price per Tree		\$6.00		No Bid		No Bid
	Extended Price:		\$1,800.00			\$7,500.00	
7	Chinkapin Oak	200					
	Price per Tree Extended Price:		\$6.00 \$1,200.00		No Bid	\$30.00 \$6,000.00	
_						ψο,σσοισσ	
8	Crape Myrtle Price per Tree	300	\$6.00	No Bid	No Bid	\$25.00	No Bid
	Extended Price:		\$1,800.00		110 510	\$7,500.00	
9	Desert Willow	300					
	Price per Tree		\$6.00		No Bid		No Bid
	Extended Price:		\$1,800.00	<u> </u> 		\$9,000.00	
10	DELETED						
11	Eve's Necklace Price per Tree	200	\$6.00	l No Bid	No Bid	\$30.00	No Bid
	Extended Price:		\$1,200.00		No Bid	\$6,000.00	
12	Lacey Oak	200					
12	Price per Tree	200	\$6.00		No Bid		
	Extended Price:		\$1,200.00			\$9,000.00	
13	Live Oak	300					
	Price per Tree Extended Price:		\$6.00 \$1,800.00		No Bid	\$30.00 \$9,000.00	
						ψ9,000.00	
14	Mexican Buckeye Price per Tree	400	\$6.00	No Bid	No Bid	\$35.00	No Bid
	Extended Price:		\$8.00 \$2,400.00	INO BIU	NO BIG	\$14,000.00	INO BIU
15	DELETED						
15							
16	Mexican Plum	200		1			
	Price per Tree Extended Price:		\$6.00 \$1,200.00		No Bid	\$35.00 \$7,000.00	No Bid
	EXIONACA I NOG.		φ1,200.00	<u> </u>		φτ,000.00	
17	DELETED						
18	Mexican Whie Oak	600					
	Price per Tree	600	\$6.00	No Bid	No Bid	\$38.00	No Bid
	Extended Price:		\$3,600.00			\$22,800.00	
				<u> </u>			

· ·	April 19, 2019]				
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
6100011094		DG	Mosty Brothers Nursery Inc. 200 Mosty	Site One Landscape Supply Holding LLC 1385 East 36th Street	Sorell Farms LLC dba Bob Wells Nursery 17160 CR 4100	AgH20 Holdings, LLC 3817 Bent Brook Dr.	South Texas Property Services Inc. 8338 Piney Wood Run
Item	Description	Estimated Annual Quantity	Center Point, TX 78210 (830) 634-2643		Lindale, TX 77571 (903) 882-3550	Round Rock, TX 78664	San Antonio, TX 78255
19	Montezuma Cypress Price per Tree Extended Price:	200	, ,	No Bid	,	\$38.00 \$7,600.00	
	Pecan (native or papershell) Price per Tree Extended Price:	400	\$6.00 \$2,400.00	No Bid	No Bid	\$50.00 \$20,000.00	
21	DELETED						
22	DELETED						
	Roughleaf Dogwood Price per Tree Extended Price:	100	\$6.00 \$600.00		No Bid	\$35.00 \$3,500.00	
24	DELETED						
25	DELETED						
26	DELETED						
27	DELETED						
28	DELETED						
29	Texas Red Oak Price per Tree Extended Price:	300	\$6.00 \$1,800.00	No Bid	No Bid	\$35.00 \$10,500.00	
30	Texas Redbud Price per Tree Extended Price:	700	\$6.00 \$4,200.00		No Bid	\$35.00 \$24,500.00	
31	Yaupon Price per Tree Extended Price:	100	\$6.00 \$600.00	No Bid	No Bid	\$30.00 \$3,000.00	
	Subtotal 1 Gallon Trees		\$33,600.00	No Bid	No Bid	\$194,500.00	No Bid
1	Five (5) Gallon Trees Anacacho Orchid Tree Price per Tree Extended Price:	25	No Bid	\$19.50 \$487.50		\$45.00 \$1,125.00	
2	Anaqua Price per Tree Extended Price:	25	No Bid	\$22.00 \$550.00		\$50.00 \$1,250.00	
	Arizona Cypress Price per Tree Extended Price:	25	\$16.00 \$400.00			\$50.00 \$1,250.00	
	Bur Oak Price per Tree Extended Price:	100	\$16.00 \$1,600.00		\$24.50 \$2,450.00		No Bid
	Cedar Elm Price per Tree Extended Price:	100	No Bid	\$16.75 \$1,675.00		\$30.00 \$3,000.00	No Bid

Opened:	April 19, 2019						
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
			Mosty Brothers	Site One Landscape	Sorell Farms LLC		South Texas Property
6100011094		DG	Nursery Inc. 200 Mosty	Supply Holding LLC 1385 East 36th Street	dba Bob Wells Nursery 17160 CR 4100	3817 Bent Brook Dr.	Services Inc. 8338 Piney Wood Run
0100011004		Estimated	Center Point,	Cleveland,	Lindale,	Round Rock,	San Antonio,
Item	Description	Annual	TX 78210 (830) 634-2643	OH 44114 (216) 706-9250 ext. 2	TX 77571 (903) 882-3550	TX 78664	TX 78255
6	Chinkapin Oak	Quantity 100	` '	(210) 700-9230 ext. 2	(903) 002-3330		
	Price per Tree		\$16.00				No Bid
	Extended Price:		\$1,600.00	\$1,950.00	\$2,450.00	\$5,000.00	
7	Crape Myrtle	100		040.50	N. D.	#45.00	N. D. I
	Price per Tree Extended Price:		\$16.00 \$1,600.00			\$45.00 \$4,500.00	No Bid
					1		
8	Desert Willow Price per Tree	50	No Bid	\$16.75	No Bid	\$55.00	No Bid
	Extended Price:			\$837.50		\$2,750.00	
9	Evergreen Sumac	25					
	Price per Tree		No Bid				
	Extended Price:			\$437.50		\$1,250.00	
10	Eve's Necklace	100	No Bid	¢10.50	No Bid	¢40.00	No Bid
	Price per Tree Extended Price:		INO DIO	\$19.50 \$1,950.00		\$40.00 \$4,000.00	
4.4	DELETED						
11	DELETED						
12	DELETED						
				1			
13	Live Oak Price per Tree	100	\$16.00	\$16.75	\$24.50	\$45.00	No Bid
	Extended Price:		\$1,600.00				
14	Mexican Buckeye	50					
	Price per Tree Extended Price:		\$16.00				
	Extended Price.		\$800.00	\$837.50		\$2,250.00	
15	DELETED						
16	DELETED						
10							
17	Mexican Sycamore	100			1		
	Price per Tree Extended Price:		No Bid	\$19.50 \$1,950.00		\$50.00 \$5,000.00	
				ψ1,550.00		ψ0,000.00	
18	Mexican Whie Oak Price per Tree	150	No Bid	\$19.50	No Bid	\$45.00	No Bid
	Extended Price:		110 2.0	\$2,925.00		\$6,750.00	
19	Montezuma Cypress	25]			
	Price per Tree Extended Price:		\$16.00	No Bid	No Bid		
	LAIGHUGU FIICG.		\$400.00	l I		\$1,200.00	
20	Possumhaw	25		^	<u>.</u>	*	
	Price per Tree Extended Price:		No Bid	\$22.00 \$550.00		\$45.00 \$1,125.00	
04		05		, , , , , , , , ,		, ,	
21	Retama (thornless) Price per Tree	25	No Bid	\$22.00	No Bid		No Bid
	Extended Price:			\$550.00	1	\$1,500.00	
22	DELETED						
23	DELETED						
24	Texas Ash	25]]			
	Price per Tree		\$16.00	No Bid	No Bid		
	Extended Price:		\$400.00	lj T		\$1,125.00	
	<u>I</u>	1	Ī.	<u>I</u>	L	Ī.	<u>I</u>

Оре	ened:	April 19, 2019						
For		Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
				Mosty Brothers Nursery Inc.	Site One Landscape Supply Holding LLC	Sorell Farms LLC dba Bob Wells Nursery	AgH20 Holdings, LLC	South Texas Property Services Inc.
610	0011094	T	DG	200 Mosty	1385 East 36th Street	17160 CR 4100	3817 Bent Brook Dr.	8338 Piney Wood Run
	ltem	Description	Estimated Annual	Center Point, TX 78210	Cleveland, OH 44114	Lindale, TX 77571	Round Rock, TX 78664	San Antonio, TX 78255
		·		(830) 634-2643	(216) 706-9250 ext. 2	(903) 882-3550		
	25	DELETED						
	26	Texas Mountain Laurel Price per Tree	200	No Bid	\$18.50	No Bid	\$45.00	No Bid
		Extended Price:		NO DIG	\$3,700.00		\$9,000.00	
	27	Texas Persimmon	50					
		Price per Tree Extended Price:		No Bid	\$19.50 \$975.00		\$45.00 \$2,250.00	
	28	DELETED						
	20							
	20	T D " .	000					
	29	Texas Redbud Price per Tree	200	\$16.00] \$19.50	\$24.50	\$45.00	No Bid
		Extended Price:		\$3,200.00	\$3,900.00	\$4,900.00	\$9,000.00	
	30	Yaupon Price per Tree	50	\$16.00	\$16.75	\$24.50	\$45.00	No Bid
		Extended Price:		\$800.00				
		Subtotal 5 Gallon Trees		\$12,400.00	\$16,587.50	\$15,925.00	\$74,075.00	No Bid
3		7 Gallon Trees						
		Pecan (native) Price per Tree	100	No Bid	No Bid	\$39.50	\$75.00	No Bid
		Extended Price:		INO BIQ	INO BIQ	\$3,950.00		
	2	Pecan (Desirable)	250					
		Price per Tree Extended Price:		No Bid	No Bid	\$42.50 \$10,625.00		
		Subtotal 7 Gallon Trees		No Bid	No Bid		Ĭ	
				NO Bia	INO BIQ	\$14,573.00	β27,500.00 	NO BIU
4	1	15 Gallon Trees Bur Oak	50		<u> </u> 			
		Price per Tree Extended Price:		\$60.00 \$3,000.00				
	0	Cedar Elm	100		. , 	, ,	 	
		Price per Tree	100	No Bid				
		Extended Price:			\$7,800.00	\$7,450.00	\$8,500.00 	
		Chinkapin Oak Price per Tree	50	\$60.00	\$78.00	\$74.50	\$90.00	No Bid
		Extended Price:		\$3,000.00				
	4	Crape Myrtle	25					
		Price per Tree Extended Price:		\$50.00 \$1,250.00				
	5	Desert Willow	25					
		Price per Tree Extended Price:		\$60.00 \$1,500.00			\$100.00 \$2,500.00	
					ψ1,000.00 	1	Ψ2,000.00	
		Evergreen Sumac Price per Tree	25	No Bid				
		Extended Price:			\$2,125.00	<u> </u> 	\$2,500.00	
		Eve's Necklace Price per Tree	25	No Bid	\$78.00	\$74.50	\$125.00	No Bid
		Extended Price:		INO DIQ	\$1,950.00			
	8	DELETED						
	9	DELETED						
	-							
	40	DELETES						
	10	DELETED						

Opened:	April 19, 2019]				
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
			Mosty Brothers Nursery Inc.	Site One Landscape Supply Holding LLC	Sorell Farms LLC dba Bob Wells Nursery	AgH20 Holdings, LLC	South Texas Property Services Inc.
6100011094		DG	200 Mosty	1385 East 36th Street	17160 CR 4100	3817 Bent Brook Dr.	8338 Piney Wood Run
lt a ma	Description	Estimated	Center Point, TX 78210	Cleveland, OH 44114	Lindale, TX 77571	Round Rock, TX 78664	San Antonio, TX 78255
Item	Description	Annual Quantity	(830) 634-2643	(216) 706-9250 ext. 2	(903) 882-3550	17 70004	17 70255
11	Lacey Oak Price per Tree	25	\$60.00	No Bid	No Bid	\$145.00	No Bid
	Extended Price:		\$1,500.00			\$3,625.00	
12	Live Oak	100		¢75.00	¢74.50	¢00.00	No Did
	Price per Tree Extended Price:		\$60.00 \$6,000.00				
13	Mexican Buckeye	50					
	Price per Tree Extended Price:		No Bid	\$75.00 \$3,750.00		\$95.00 \$4,750.00	
14	Mexican Olive	50		. ,			
	Price per Tree Extended Price:		No Bid	\$75.00 \$3,750.00		\$110.00 \$5,500.00	
				\$3,730.00	<u>]</u> 	\$5,500.00	
15	Mexican Plum Price per Tree	50	\$60.00	\$78.00	\$74.50	\$98.00	No Bid
	Extended Price:		\$3,000.00	\$3,900.00	\$3,725.00	\$4,900.00	
16	Mexican Sycamore	75	No Bid	Φ75.00	¢74.50	\$95.00	No Bid
	Price per Tree Extended Price:		INO BIO	\$75.00 \$5,625.00			
17	Mexican Whie Oak	100]			
	Price per Tree Extended Price:		\$60.00 \$6,000.00				
4.0				j	ψ1,100.00 1	\$40,000.00	
18	Montezuma Cypress Price per Tree	25	No Bid				
	Extended Price:			\$1,875.00	<u> </u> 	\$2,500.00	
19	Pecan (native) Price per Tree	75	\$60.00	\$75.00	\$129.50	\$175.00	No Bid
	Extended Price:		\$4,500.00				
20	Pecan (Desirable)	50					
	Price per Tree Extended Price:		No Bid	No Bid	\$149.50 \$7,475.00		
21	Possumhaw	25			1		
21	Price per Tree	25	No Bid				
	Extended Price:			\$1,875.00		\$2,625.00	
22	Retama (thornless) Price per Tree	50	No Bid	\$78.00	No Bid	\$105.00	No Bid
	Extended Price:			\$3,900.00		\$5,250.00	
23	DELETED						
24	DELETED						
25	DELETED						
26	Texas Ash	25			 		
26	Price per Tree	25	No Bid				
	Extended Price:			\$1,875.00		\$2,625.00	
27	Texas Mountain Laurel Price per Tree	100	No Bid				
	Extended Price:			\$7,800.00		\$10,500.00	
28	Texas Persimmon Price per Tree	50	No Bid	\$80.00	No Bid	\$105.00	No Bid
	Extended Price:		INO BIO	\$4,000.00		\$105.00 \$5,250.00	
29	Texas Red Oak	50					
	Price per Tree Extended Price:		\$60.00 \$3,000.00		No Bid	\$105.00 \$5,250.00	
			\$3,500.00	<u> </u> 		\$3,200.00	

Opened:	April 19, 2019		1				
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
0400044004		D O	Mosty Brothers Nursery Inc.	Site One Landscape Supply Holding LLC	Sorell Farms LLC dba Bob Wells Nursery	AgH20 Holdings, LLC	Services Inc.
6100011094		DG Estimated	200 Mosty Center Point,	1385 East 36th Street Cleveland,	17160 CR 4100 Lindale,	3817 Bent Brook Dr. Round Rock,	8338 Piney Wood Run San Antonio,
ltem	Description	Annual Quantity	TX 78210 (830) 634-2643	OH 44114 (216) 706-9250 ext. 2	TX 77571 (903) 882-3550	TX 78664	TX 78255
30	Texas Redbud Price per Tree	100	No Bid	\$75.00	\$74.50	\$100.00	No Bio
	Extended Price:		INO BIG	\$7,500.00			
31	Yaupon	25					
	Price per Tree Extended Price:		\$60.00 \$1,500.00			\$100.00 \$2,500.00	
	Subtotal 15 Gallon Trees		\$34,250.00	\$30,950.00	\$29,825.00	\$139,700.00	No Bio
5	30 Gallon Trees						
1	DELETED						
2	DELETED						
3	DELETED						
4	DELETED						
5	DELETED						
6	DELETED						
7	DELETED						
8	DELETED						
6	5 Gallon Fruit Trees	100					
ľ	Apple Price per Tree Extended Price:	100	No Bid	\$19.75 \$1,975.00			
2	Apricot Price per Tree Extended Price:	100	No Bid	No Bid	\$18.50 \$1,850.00		
3	Avocado Price per Tree Extended Price:	250	No Bid	No Bid	\$16.90 \$4,225.00		
4	Fig Price per Tree Extended Price:	250	No Bid	\$16.50 \$4,125.00	\$16.90 \$4,225.00		
5	Lemon Price per Tree Extended Price:	350	No Bid	\$26.50 \$9,275.00			
6	Lime-Mexican Key Price per Tree Extended Price:	200	No Bid	\$26.50 \$5,300.00			
7	Lime-Persian Price per Tree Extended Price:	200	No Bid	No Bid	\$39.50 \$7,900.00		
8	Nectarine Price per Tree Extended Price:	100	No Bid	No Bid	\$16.90 \$1,690.00		

Opened:	April 19, 2019 Annual Contract for Supply of Trees						
For:	Annual Contract for Supply of Trees		Non-Local	Non-Local	Non-Local	Non-Local	Non-Local
			Mosty Brothers Nursery Inc.	Site One Landscape Supply Holding LLC	Sorell Farms LLC dba Bob Wells Nursery	AgH20 Holdings, LLC	South Texas Property Services Inc.
610001109	4	DG	200 Mosty	1385 East 36th Street	17160 CR 4100	3817 Bent Brook Dr.	8338 Piney Wood Run
lt a ma	December 1	Estimated	Center Point, TX 78210	Cleveland, OH 44114	Lindale, TX 77571	Round Rock, TX 78664	San Antonio, TX 78255
Item	Description	Annual Quantity	(830) 634-2643	(216) 706-9250 ext. 2	(903) 882-3550	17 70004	17 76255
9	Olive Price per Tree Extended Price:	100	No Bid	\$22.00 \$2,200.00			
10	Orange Price per Tree Extended Price:	350	No Bid	No Bid	\$39.50 \$13,825.00		
11	Peach Price per Tree Extended Price:	300	No Bid	\$19.75 \$5,925.00		•	
12	Pear Price per Tree Extended Price:	200	No Bid	\$19.75 \$3,950.00		•	
13	Persimmon Price per Tree Extended Price:	100	No Bid	No Bid	\$24.50 \$2,450.00	•	
14	Plum Price per Tree Extended Price:	150	No Bid	No Bid	\$16.90 \$2,535.00		
15	Pomegranate Price per Tree Extended Price:	200	No Bid	\$19.75 \$3,950.00			
	Subtotal 5 Gallon Fruit Trees		No Bid	\$24,850.00	\$44,615.00	\$162,800.00	No Bid
	Payment Terms		Net 30	Net 30	Net 30	Net 30	Net 30
	Estimated Annual Total		\$80,250.00	\$72,387.50	\$89,015.00	\$598,575.00	No Bid
	Estimated Annual Award		\$80,250.00	\$72,387.50	\$89,015.00		

Item 5, 30 gallons trees will be re-bid at a later date.